TMP NO. 08280831 |PAGE 1 OF 1 REV. 3-21

NOTES:

1) DO NOT SCALE THIS DRAWING

2) DIMENSIONS ARE IN INCHES / [MM]

3) RIGHT HAND DOOR IS SHOWN

4) CAUTION: SEX NUTS ARE REQUIRED FOR ATTACHMENT OF
COMPONENTS TO UNREINFORCED DOORS AND TO WOOD OR
PLASTIC FACE COMPOSITE TYPE FIRE DOORS, UNLESS AN
ALTERNATIVE METHOD IS IDENTIFIED IN THE INDIVIDUAL
DOOR MANUFACTURER'S LISTINGS.

5) OPTIONAL DPK FASTENERS (DPK86) FOR STEEL DOOR & FRAME ONLY

6) SEE CATALOG FOR REVEAL INFORMATION

CLOSER - FOUR (4) HOLES IN FRAME
1/4-20 MACHINE SCREWS - 13/64" OR #7 DRILL & TAP
No.14 WOOD SCREWS - 5/32" DRILL
DPK FASTENERS - 1/8" DRILL

" " | 12"
A [305]
BoTTOM 172" 3 |
OF FRAME-\[13] }*
: Ir _________________ ?_______::::::::'__ =7
i 2-5/8"
i [67] —— —mo !
! | fl N
| .i ® 4
: [
' | 4-7/8" |
| "B"
i 124
o e '
|
i ]
¢ OF

ARM SHOE - TWO (2) HOLES IN DOOR
5/16-18 MACHINE SCREWS - #F (0.257") DRILL & TAP
No.20 WOOD SCREWS - 7/32" DRILL
SEX NUTS - 3/8" DRILL

HINGE'OR PIVOT

Always consult dormakaba's web site for latest template at www.dormakaba.us or call 1-800-523-8483.

ANGLE OF [ANGLE OF| DIMENSION |DIMENSION "B"
HOLD OPEN| CUSHION |"A" (CLOSER)| (ARM SHOE)

o N . 7-3/8" 9-7/8"
85 86° - 96 —[187] _[251]
R R R 6-7/8" 9-3/8"
90 91°-101 T8 238
\ . . 6" 8-1/2"
100 101°-111 —[152] —[216]

21/2"

[64]

MINIMUM TO
ﬁ_ CEILING
7
DI |
|
/\;?L'ﬂ:ﬂ-
{ <
QL
SEE NOTE 6
1-3/4"
[44]
3/4" REF’ -
[19]

DOOR CLOSER MODELS: 8600 SISJH
SPRING INTEGRA STOP TOP JAMB INSTALLATION HOLD OPEN
PUSH SIDE MOUNT

dormakaba s

dormakaba USA Inc
DORMA DRIVE
REAMSTOWN,

PA 17567

800 523 8483




TMP NO. 08280833

PAGE 1 OF 1

REV. 3-21

NOTES:

1) DO NOT SCALE THIS DRAWING

2) DIMENSIONS ARE IN INCHES / [MM]

3) RIGHT HAND DOOR IS SHOWN

4) CAUTION: SEX NUTS ARE REQUIRED FOR ATTACHMENT OF

COMPONENTS TO UNR

EINFORCED DOORS AND TO WOOD OR

PLASTIC FACE COMPOSITE TYPE FIRE DOORS, UNLESS AN
ALTERNATIVE METHOD IS IDENTIFIED IN THE INDIVIDUAL
DOOR MANUFACTURER'S LISTINGS.

5) OPTIONAL DPK FASTENERS (DPK86) FOR STEEL DOOR & FRAME ONLY

6) SEE CATALOG FOR REV

EAL INFORMATION

FOR 1/4-20 MACHINE SCREWS, USE 13/64" OR #7 DRILL & TAP
FOR No.14 WOOD SCREWS, USE 5/32" DRILL

FOR DPK FASTENERS, USE 1/8" DRILL

FOUR (4) HOLES IN FRAME ARE FOR BACK PLATE (SHOWN)

Always consult dormakaba's web site for latest template at www.dormakaba.us or call 1-800-523-8483.

6-1/2"
[165]
5-1/4"
[133]
- 1-1/4"
I [32] 1/ 1 _
3" / (6]
BOTTOM [10] -
o} 8FF FRAME
 HINGEPRPNVOT-——————— ]
| | - - — - -
|
! 3-11/16"
L [94]
I I,: — T/ __
= o
| I: - ==
| ] “B" | 4_7/8"
i | [124]
i
e FOR 5/16-18 MACHINE SCREWS, USE #F (0.257") DRILL & TAP
FOR No0.20 WOOD SCREWS, USE 7/32" DRILL

FOR DPK FASTENERS, USE 1/8" DRILL

FOR SEX NUTS, USE 3/8" DRILL

TWO (2)

HOLES IN DOOR ARE FOR ARM SHOE (SHOWN)

ANGLE OF |ANGLE OF|DIMENSION "A"|DIMENSION "B"
HOLD OPEN| CUSHION | (BACK PLATE) | (ARM SHOE)
. . . 7-3/4" 9-7/8"
85 86°- 96 T 5
. . . 7-1/4" 9-3/8"
90 91°-101 TieaT 38
. . . 6-3/8" 8-1/2"
100 101°- 111 6] 216
2"
[51]
MINIMUM TO
CEILING
= .
SEENOTE 6 |=—

DOOR CLOSER MODELS: 8616 SISJH

TOP JAMB INSTALLATION (PUSH SIDE MOUNT)
WITH BACK PLATES BP86 & BP86FC

SPRING INTEGRA CUSHION ARM

dormakaba s

dormal

kaba USA Inc

DORMA DRIVE

800 523 8483




TMP NO. 08280834 |PAGE 1 OF 1 REV. 3-21 Always consult dormakaba's web site for latest template at www.dormakaba.us or call 1-800-523-8483.

NOTES: ANGLE OF |ANGLE OF | DIMENSION "A" [DIMENSION "B"

1) DO NOT SCALE THIS DRAWING HOLD OPEN| CUSHION | (DROP PLATE) | (ARM SHOE)

2) DIMENSIONS ARE IN INCHES / [MM] 77/8" 9-7/8"

3) RIGHT HAND DOOR IS SHOWN 85° 86°-96° e 2o

4) CAUTION: SEX NUTS ARE REQUIRED FOR ATTACHMENT OF [200] [251]
COMPONENTS TO UNREINFORCED DOORS AND TO WOOD OR . 7-3/8" 9-3/8"
PLASTIC FACE COMPOSITE TYPE FIRE DOORS, UNLESS AN 90° 91°-101 e 38
ALTERNATIVE METHOD IS IDENTIFIED IN THE INDIVIDUAL
DOOR MANUFACTURER'S LISTINGS. 100° 101°-111° 6-1/2" 8-1/2"

5) OPTIONAL DPK FASTENERS (DPK86) FOR STEEL DOOR & FRAME ONLY - T165] 216]

6) SEE CATALOG FOR REVEAL INFORMATION
FOR 1/4-20 MACHINE SCREWS, USE 13/64" OR #7 DRILL & TAP
FOR No.14 WOOD SCREWS, USE 5/32" DRILL

. FOR DPK FASTENERS, USE 1/8" DRILL
[178] FOUR (4) HOLES IN FRAME ARE FOR DROP PLATE (SHOWN)
5-1/2" 2"
) [140] B [51]
) ) MINIMUM TO
nAN | 1'1/2 . 1/2
B - - A1“ - - T s8] | ] 3 CEILING
—_— I — n ’ =1 —]
. soTTom 1251 ® ©- @ é
! | OF FRAME f g==§
e e e e e ey - I
| e i I 1 0@0
| I: o [e] o (o] o -
| 4-1/2" !
\ il ! [114] '
| I
| =
|| |
| Ii I GI@ ® I
I |
o 3
i_' i . —~ SEENOTE6 |~
| | -!I I
I |
I 11 _ _ _ _ L _ _ _ _ ]
I
| 471" FOR 5/16-18 MACHINE SCREWS, USE #F (0.257") DRILL & TAP
| g [124] FOR No.20 WOOD SCREWS, USE 7/32" DRILL
¢lor FOR DPK FASTENERS, USE 1/8" DRILL

HINGE OR PIVOT FOR SEX NUTS, USE 3/8" DRILL
TWO (2) HOLES IN DOOR ARE FOR ARM SHOE (SHOWN)

TOP JAMB INSTALLATION (PUSH SIDE MOUNT) TR
WITH DROP PLATE DP86 dormakaba

SPRING INTEGRA CUSHION ARM




	08280831_86_SISJH_3-21.pdf
	08280833_86_ SISJH_BP_3-21.pdf
	08280834_86_SISJH_DP_3-21.pdf

